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1. Which fraction is equivalent to 45%?

A. 5
25

B. 9
25

C. 9
20

D. 4
5

2. Which number shows 1.42 × 108 in standard form?

A. 142,000

B. 142,000,000

C. 1,420,000,000

D. 14,200,000,000

3. The school cafeteria bought 15 tables. After receiving a discount of $250, the total price was $5,000.
Which equation could be used to find the cost, t, of each table?

A. 15t + 250 = 5,000

B. 15t – 250 = 5,000

C. 15t + 250t = 5,000

D. 15t – 250t = 5,000
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4. What is the value of
�48
�12

?

A. –36

B. – 4

C. 4

D. 36
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5. Use the information below to answer the question.

red

blue

yellow

green

Doors Balloons

pink
lavender
orange
white

pink
lavender
orange
white

pink
lavender
orange
white

pink
lavender
orange
white

A contest winner randomly selects a door color and the color of a balloon behind the door. When the
player pops the balloon, the player wins the prize inside the balloon. The colors of the doors and the
balloons are shown in the diagram. What is the probability that the player randomly selects a red
door and a white balloon?

A.
1
16

B.
1
8

C.
1
4

D. 1
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6. A circle has a diameter of 20 inches. What is the circumference of the circle?

A. 31.4 in.

B. 62.8 in.

C. 314 in.

D. 628 in.

7. Use the graph below to answer the question.

Favorite Pizza Topping

Pizza Topping

N
um

be
r o

f S
tu

de
nt

s 12
10
8
6
4
2
0

cheese pepperoni hamburger supreme

Each student in a class of 25 students was surveyed about his or her favorite pizza topping. What
percentage of the students selected cheese or hamburger topping as their favorite?

A. 40%

B. 48%

C. 52%

D. 60%

8. Stacy has 20 blocks. Of the 20 blocks, 16 are cubes. What percentage of the blocks are cubes?

A. 75%

B. 80%

C. 120%

D. 125%
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9. The total cost of 3 sweaters is less than $90.33. Each sweater costs s dollars. Which inequality
represents this situation?

A. 90.33 – 3 < s

B. 3s > 90.33

C. 90.33 – 3 > s

D. 3s < 90.33

10. Use the spinner and the table below to answer the question.

green

blue

red

yellow

Results of 100 Spins

Color Number

red 30

blue 19

green 26

yellow 25

The arrow on the spinner is spun 100 times. The table shows the results from the 100 spins. Which
result in the table matches exactly the theoretical probability for that color?

A. red

B. blue

C. green

D. yellow
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11. What is the solution of the inequality x – 26 > 65?

A. x > 39

B. x < 39

C. x > 91

D. x < 91

12. Use the coordinate grid below to answer the question.

x

y

X (6, 4)

Y (7, 1)Z (2, 1)

Given XYZ, what are the new coordinates of point X after a translation of 4 units left and 5 units down?

A. (2, –1)

B. (1, 0)

C. (3, –4)

D. (–2, –4)
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13. What is the value of x in 2x + 4 = 7?

A. x = –1.5

B. x = 1.5

C. x = 6

D. x = 22

14. Which fraction is between 0.6 and 0.7?

A.
2
5

B.
8
10

C.
11
20

D.
2
3

15. A car travels 70 miles per hour. Which expression shows the distance the car travels in h hours?

A. 70 – h

B. 70h

C. 70 + h

D. 70
h
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16. Use the coordinate grid below to answer the question.

x

y

C
(7, 3)

D
(7, –1)

What is the length of ?

A. –5 units

B. – 4 units

C. 4 units

D. 5 units

17. Which method shows how to select numbers that are multiples of 6?

A. The ones digit is 0, 2, 4, 6, or 8, and the sum of digits in the number is a multiple of 3.

B. The ones digit is 0, 2, 4, 6, or 8, and the sum of digits in the number is a multiple of 5.

C. The ones digit is 1, 3, 5, 7, or 9, and the sum of digits in the number is a multiple of 3.

D. The ones digit is 1, 3, 5, 7, or 9, and the sum of digits in the number is a multiple of 5.

18. What is the value of the expression
8�x�5�

2
when x = 3?

A. 14.5

B. 16

C. 21.5

D. 32
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19. Use the coordinate grid below to answer the question.

x

y

B A

C D

5
4
3
2
1
 

–1
–2
–3
–4
–5

10 2 3 4 5–5 –4 –3 –2 –1

What point corresponds with the ordered pair (1, –1)?

A. A

B. B

C. C

D. D

20. Use the list of numbers below to answer the question.

List of Numbers

16 11 12 24 12

What is the range of the numbers?

A. 11

B. 12

C. 13

D. 15
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21. The school library places 3 book orders. The costs of the book orders are $272.13, $416.48, and
$53.98. Which equation shows how to estimate the cost of these orders to the nearest ten dollars?

A. $270 + $410 + $50 = $730

B. $270 + $420 + $50 = $740

C. $280 + $420 + $50 = $750

D. $280 + $420 + $60 = $760
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Answer Key

1 C
2 B
3 B
4 C
5 A
6 B
7 C
8 B
9 D
10 D
11 C
12 A
13 B
14 D
15 B
16 C
17 A
18 D
19 D
20 C
21 B


